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2017 December New Juniper JNO-647 Exam Dumps with PDF and V CE Free Updated Today! Following are some new JNO-647
Exam Questions:1.]2017 New JNO-647 Exam Dumps (PDF & VCE) 80Q& As Download;
https://www.braindump2go.com/jn0-647.html2.|2017 New JNO-647 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/1-DINY EeM PFpmtj| FkbEBse2HURANA L a6?usp=sharingQUESTION 11Which three
databases are used by the Dijkstraalgorithm? (Choose three.)A. TreedatabaseB. Link State DatabaseC. Candidate databaseD.
MAC databaseE. Configuration databaseAnswer: ABCQUESTION 12Click the Exhibit.  user@switch> show configuration

interfaces {
ge=-0/0/3{ .
WWWwW.DEainaump2Lgo
proxy-a:“{: unrEstr
family ethernet- .

A customer requires that the switch responds to an ARP request only if the source and target | P address are on different subnets.
Referring to the Exhibit, how would you accomplish thistask?A. Create astatic ARP entry for the host.B. Enable the
no-gratuitous-arp request command under the interface hierarchy.C. Remove the proxy ARP setting and clear the entry.D.
Change the proxy ARP parameter setting to restricted.Answer: DQUESTION 13A customer needs to pass Layer 2 protocols
between sites.Which protocol or standard would be required to implement connectivity on EX4300, EX3400, and EX2300
devices?A. Q-in-QB. IGMPC. VPLSD. OSPFAnswer: AQUESTION 14Click the Exhibit.
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user@Rl> show route 10.42.100.0
inet.0 : &1 destinations, 64 routes (61 actiwve, 0 holddown, 0
hidden)

L R R nERu tEY, - R ) a Ei T e = g IF
WWWr.pramoatmpzgo.com
10.42.100.0/24 *[OSPF3/150] 00:00:11, metric 1, tag 0

> to 10.42.18.1 wvia ge-0/0/1.0

Referring to the exhibit, how is R1 learning the route from R2?A. R2 has interface ge-0/0/2 configured in another area under
OSPFv3.B. R2 has an export policy with external type 1 configured.C. R2 has interface ge-0/0/2 configured as a passive
interface under OSPFv3.D.  R2 has an export policy with external type 2 configured. Answer: BQUESTION 15Click the Exhibit.
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{master: 0} [edit]
user@switch# show protocols dotlx
authenticator {
;h:e‘:‘_ajc.e { . ) ) p )
WWwessSFainaump<go.con
supplicant single-secure;

1
!

Y ou have deployed the access control configuration to the distribution switch.Referring to the exhibit, which statement is true?A.
All hosts connected to the access switch will have access to the work after one device authenticates.B.  All hosts connected to the
access switch require authentication to access the network.C.  Only the first host to authenticate will have access to the network;
other hosts will be blocked.D.  All hosts connected to the access switch will have access to the network without
authentication.Answer: CQUESTION 16Which statement is correct about MSTP?A. M STP enables mapping multiple independent
spanning-tree instances onto one physical topology.B. MSTP enables dynamic discovery of Layer 2 neighbors.C. MSTP
dynamically manages VLAN registrationinaLAN.D. MSTP uses stacked VLAN tags to extend a Layer 2 Ethernet connection
between multiple sites. Answer: AQUESTION 17Click the Exhibit. Y ou have configured 802.1X single supplicant mode on the
access switch. The Vol P phone does not support 802.1X authentication.Referring to the exhibit, which statement istrue?A. MAC
bypass must be configured for the Vol P phone for this solution to work.B.  Authentication must be changed to multiple supplicant
mode for this solution to work.C.  The Vol P phone will be able to communicate over the network after the workstation
authenticates.D.  The Vol P phone will not be able to communicate over the network.Answer: CQUESTION 18Y ou configured
static mode power management on an EX4300 to provide PoE power to telephone and access point equipment.Which statement is
correct regarding the POE power budget?A. Power is budgeted to devices on afirst come, first served basis as devices are
connected.B.  The power budgeted will be based on the device class connected to each port.C.  Power is budgeted to a port even if
no deviceis connected to the port.D.  The power budgeted to ports will adjust to how much power a device actually uses. Answer:
CQUESTION 19What information must you gather from the satellite device to provision a Junos Fusion Enterprise deployment on
the aggregation device? (Choose two.)A. MASaddressB. Serial numberC. Software versionD. Model numberAnswer:
ABQUESTION 20Click the Exhibit. usez@ri> shew leg copz-crace

Jun 13 09:29:40. 927461 Received CSPF packet od type and wire_length 1,
60

Jun 13 09:29:40. 927471 OSPF rovd Hello 172.24.182.82 -> 224.0.0.5 (xe-
11/3/0.0 IFL 3170 area 0.0.0.0)

Jun 13 09:29:40. 927477 Verasion 2, length 48, ID 172.24.192.82, area

0.0.0.0
Jun 13 092:29:40. 927481 checksum 0x0, authtype 0
Jun 13 65:25:40. &2 4— —054 288 3 15 285 284, hagd ivl 10, epra OxlZ.

r =
ARW . BralnddmibZc 0.COM
Jun 13 09:29:40. 927492 ﬂ!lﬂ ivl 40, DR 172 'J‘ 1982.%7, 0.0.0.0

Jun 13 09:29:40. 927497 nedl qbbor 172.24.192.165

Jun 13 09:29:40. 927509 CSPF restart signaling: Received hello with LLS
data from nbr ip+ 172.24.192.82 id= 172.24.192.82

Jun 13 09:29:40. 927516 OSPF packet ignered: configuration mismatch from
172.24.192.82 on intf Xe-11/3/0.0 area 0.0.0.0

Jun 13 09:289:41. 53239€ rt_flash update callback: flash OSFF (inet.0)
sgaze
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userfRl show protocols capf
tracecptions {

file gapf-trace

flag all;

reference-bandwidch 1000g:
area 0.0.0.0 {
interface 1o0.0 {
passive;
}
incterface ae0.0 {
interface-type pip:
bfd-liveness-detecticn {
minimum-incerval 750;
mulciplier 3;
1
}
WWYEBH T U B2 0.c0
e Jﬁﬁ‘tt?f;é’::_ tl‘ﬁr:' J}J’s‘lﬁ/ 90-c0on
bfd-liveness-detecticn {
minimum-interval 750;
multiplier 3;
1
}
¥
[edit]
userfR24# show protocels ospf
area 0.0.0.0 {
interface xe-2/1/0.0 {
metrie 220;
priority 150;
hello-interval 10;
dead-interval 40;

Y ou have just configured on an OSPF adjacency between two routers. After you commit the configuration, you notice that your
adjacency is not up.Referring to the exhibit, what would cause the problem?A. Y ou must configurelo on R2.B. Y ou must
configure hello and dead intervals on R1.C. Y ou must configure on interface-typeon R2.D. Y ou must configure bfd on
R2.Answer: CQUESTION 21Y ou are asked to merge a RIP network with your OSPF network. As afirst step, you establish
connectivity between the RIP network and the OSPF network. The RIP network connects to an NSSA area. Which two statements
aretruein this scenario? (Choose two.)A. To share RIP routes with the OSPF network, an export policy will be required on the
ABR.B. To share RIP routes with the OSPF network, an export policy will be required onthe ASBR.C. By default, external
OSPF routes have a higher route preference than RIP routes.D.  Be default, RIP routes have a higher route preference than external
OSPF routes. Answer: BD!!'!RECOMMEND!!!1.]2017 New JNO-647 Exam Dumps (PDF & VCE) 80Q& As Download;
https://www.braindump2go.com/jn0-647.html2.]2017 New JNO-647 Study Guide Video: Y ouTube Video:

Y ouTube.com/watch?v=qjBOmQ8aaT4

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Page3/3 |


http://www.mcitpdump.com/?p=7676
http://www.youtube.com/watch?v=qjBOmQ8aaT4
http://www.profprojects.com/?page=upm

